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’ o === _— — — —— 2 - 2 ¥ S | Do not write
| outside the
; Answer all questions in the spaces provided. Wi
| |
1 What is the clockwise turn from North to East? |
Circle your answer. {
i [1 mark] |
‘ f
. z i
45° 90° 270° 315° |
|
|
!
| 2 d is 6 more than c. |
Circle the correct equation. ‘»
; [1 mark] |
; |
d=6c c=6d c=d+6 ‘
, 3 Here is a number line.
| |
| ! I |
|
2 A 3 r
Which number is at A? \
Circle your answer. 1
[1 mark] !
|
2.3 2.55 26 }
|
l
|
|
‘ 02 1B/M/Nov22/8300/3F
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r
3
-y EESH RN N B TR0 e =y . B = 3 i | Do not write
| | outside the
[ 4 In the quadrilateral, which angle is obtuse? i e
i | ‘
| |
A D ; 1
' |
' !
,’ |
J‘ C [
| |
| ! |
i
| |
f Circle your answer. |
‘ [1 mark] |
BAD CBA DCB
5 (a) Write down the two prime numbers between 25 and 35 |
[2 marks] |
Answer lLC\ and 2 \ ‘
il i
|
|
|
5 (b) Write down one cube number between 100 and 300 w‘
[1 mark]
-
Answer 11 C\
| TR
|
I 7
Turn over >
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‘ outside the
6 (a) Here are two straight lines. o
Not drawn ‘
accurately |
J
/) |
| 2 |
Write down the size of angle w. ‘
[1 mark] |
|
W L!.‘S degrees ‘
!
|
6 (b) Here are two different straight lines. '
Not drawn ;
accurately l
m |
|
i
Work out the size of angle x. j
[1 mark] |
!
156 - 62 =\1€ |
|
x= \ l % degrees
|
|
6 (c) Inatriangle, two of the angles are 51° and 74°.
Work out the size of the third angle.
[1 mark]
=5
(gO- S\ =14 S'
Answer 6§  degrees ‘
|
L o il
e e T T e e e T e
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5
o oy - I TN T = Tr-a S ) - EE gEgeS = Do not write
[ outside the
|7 (a) Solve 12-e=0 e
3 [1 mark]
1
| -
e —H=il=0
!
j goie T e T
!
7 (b) Solve 7f=0
[1 mark]
i
1x0=0
(D)
8 Put these probabilities in order, starting with the least likely. ‘
|
72% 0.705 i
10
011 o [2 marks]
“
Answer 1o 260y S
| =T
Turn over »

e i
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9

[

| X 0 2 4 6 8B
¥ 3 7 W] G e ) ies

9 (a) Complete the table.

VA

The x-values in the table make a linear sequence.

1"

The y-values in the table make a different linear sequence.

10—

06

=V

9 (b) Draw a straight line passing through the points (0, 3), (2, 7) and (4, 11)

| Do not write
| outside the
box

[2 marks]

|
|
i
[2 marks] E
|
l

1B/M/Nov22/8300/3F
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p
7
- = | Do not write
! oufsblgﬂ the
9 (c) Use the graph to work out the value of y when x=3 I
[1 mark] |
|
i, b s o A e I I |
1
1 1
| |
| |
‘ \
| i
b KR o . - |
’ | When 5 is added to a negative number, the answer can be positive ,
2 |
' i 5 i :
| Give one example to show that this is correct. )
2 Pastkive [1 mark] |
Sl =8 e
r\egou'ti\ri et g
10 (b) :
When 5 is added to a negative number, the answer can be negative
Give one example to show that this is correct. !
" [1 mark] |
1
~6+5 - |
d S 00 iV r
e MRSl ol S T L\ Bk SENE DEOG S A Y:
n&a(uu\/t j ;
10 (c) : :
When a number is doubled, the answer is always greater than the original number
Give one example to show that this is not correct.
[1 mark]
Y Rl
-5 is smoller than -4
8
Turn over »
07 1B/M/Nov22/8300/3F
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480 people are asked if they eat sushi.
20% say Yes.

% of the people who say Yes eat sushi at least once a month.

Complete the frequency tree.

Lo -6 = 334

L o Q6 = 64
3

QL -l =%

Eat sushi

At least
once a month

Do not write

| outside the

|

[4 marks]
\

1B/M/Nov22/8300/3F
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| Do not write
| outside the
(12 Event A has taken place every 4 years. b

i Event B has taken place every 3 years.
‘ Both events took place in 2019

Work out the last year, before 2019, when both events took place.
t [2 marks]

| EARCY ol

Answer 1LooN

13 Luke wants to make a number machine so that y=5x+3
Here is his attempt.

1
|
|
|
i
1
|
1
i
|
|
|
|
|
|
1
|
l
|
|
?
|
Input Output ‘

+3 > x5 '
L

l

What mistake has he made? ‘
[1 mark] |

he oxdar  Shatach be xS giesy Chen + 3

nx ¥

l
|
|
|
|
|
|
|
|

Turn over »
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. ' Do not write
outside the
14 Circle the solid that has six edges. bax
\ [1 mark]
triangular-based :
pyramid sphere cube cylinder
|
i 15 (a)  On the grid, shape A is shown.
3 One side of shape B is also shown.
I
LA ; , |
‘‘‘‘‘‘ ) ___._.._—
! B !
Complete shape B so that it is congruent to shape A.
[1 mark]
|
l
i
|
|
I e
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| Do not write
| outside the

115 (b) On this grid, shape C is shown. ; Dox
One side of shape D is also shown. \
|

Complete shape D so that it is an enlargement of shape C with scale factor 2 "
[1 mark]

Turn over for the next question

Turn over »

1B/M/Nov22/8300/3F

T




mmerevise.co.uk

[

16 (a)

12

40 students were asked the number of visits they made to a gym one week.

The chart shows information about the results.

Numberot °T I iy il
students

0 1 2 3 4 5
Number of visits

Write down the modal number of visits.

Answer \

[1 mark]

| Do not write

outside the
box

L

1B/M/Nov22/8300/3F
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13
| Do not write
outside the
16 (b)  Work out the mean number of visits. i
Give your answer as a decimal. |
| [3 marks]
| ¥ 40Nl F AxB o X 4 LS dewy
|
| et el AEes b 0 bl Bl
!
| |
% = % A '
DL O L BN e e A ;
1
Answer 1.0 ’
16 (c) One of the 40 students is chosen at random. r
!
Work out the probability that the student visited the gym at least once. ‘
[2 marks] |
e ks rirsk =03 |
I
|
) el 0. 815 woLe DLST, ‘
Answer
6
Turn over »
T 5 i
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| Do not write
outside the
17 This scale drawing of a bus has length 8 cm S

! Scale 1 cm represents 1.65 m
i

The actual length of the bus is 3.8 times the actual length of a car.

Work out the actual length of the car.

Give your answer in metres, to the nearest centimetre.
[3 marks] |

v labs %2

13- 0= 3.8 = 720G

Answer 2- 41 metres

1B/M/Nov22/8300/3F
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‘ R I | Do not write
} outside the
18 11 identical full tins of red paint hold a total of 3630 ml .
, All the paint from 4 of these tins is poured into an empty bucket. |
i The bucket can hold 2500 ml i
{ |
% Tins of white paint each hold 140 ml
Can all the white paint from 9 tins be added to the bucket?
|
* You must show your working. ‘
[4 marks]
| Reg 3630 M= 3130 mi_od paIAk I each €
i
‘l —
| : -
| 330x Y = 1320me putared jnko o bUlkek i
Whitt gy |40 = 1260me Whike paiar 1A {SEaA
D
|
1226+ 11606 = 2$80 mr  \otaa vad ond Ghite
|
4586 59.50G s nC Ehe combined Mh@tvu\.l(_.i_)'_f
Qreoues datn Az ooks (,Q.oo.oitj '
|
1
19 The largest possible value of n is 2 ]
|
Circle the correct inequality. !
[1 mark] |
\
!
& n< 2 ny 2 n>2 }
1
l
[
i
1
8
Turn over »
LT L i
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e T T St S r > o ) . i S ; ;o ‘ Do not write
| ‘ auls[;g:lhe
20 Jamil is on holiday in France. :
120 (a) The costof a room in a hostel is 27 euros. 1
! Convert the cost to £
‘ Use £1=1.2euros
; [2 marks]
| e e
1 !
| i
Answerf 12 .S 6
:f
20 (b)  Jamil rides a motorbike. ‘
The motorbike uses one litre of petrol for every 14 miles. ,
How many litres of petrol does the motorbike use to go 168 kilometres? !
Use 8 kilometres = 5 miles :
[3 marks] |
|
it = L i) 5 0 Sk 2 S o ;
xS ( W T |
1Sl (0F i 165 kan £ 10T |
i
|
r
|
4
|
Answer 1 25 litres
L o e e . e e 4
g g
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BT, A R A T T R e T T i =i 3 | Do not write
[ outside the
box

21 The scatter graph shows the height and mass of some dogs.

35 :

30 i }/{x
25 ) <ol
Mass ' }x/

(kg) 20 7

15 x4 |

/( | |

10"’.7

5

0 35 40 45 50 55 60 65
Height (cm)

21 (a) The scatter graph shows positive correlation.

Describe the relationship between the height and mass of the dogs.
[1 mark]

03 kucdw( intregue); I6 doed  Moyd

21 (b)  Use aline of best fit to estimate the mass of a dog with height 48 cm
[2 marks]

Answer /L ‘ kg

Turn over »

L
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18
T e o e P e A iRt e e T T = T T 1 —‘ Do not write
outside the
ABCDE is a pentagon. e
N fiiem Not drawn
e accurately
A
|
D
11 cm
7¢cm
) 1
B
< 20 cm
Work out the area of the pentagon. / trapeZium
[3 marks] |
e G 350 )8 Wl AR |
2
C
2 e lo el o= 35 = tritngu
k3= 2% %
e U e foaes (O A -—
|
Answer 9% % cm?
1B/M/Nov22/8300/3F
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Joe, Kim and Lisa each have an amount of money.
Joe has £72

Joe's amount : Kim's amount=6:5

Lisa's amount is 1% times Joe's amount.

Show that, in total, they have less than £250

e b2

[3 marks] |

kb o

Lix - t10%

E()\-('u .

9. 460 410%. 2 A4o

LG40 A5G0

Turn over for the next question

| Do not write

outside the
box

i

Turn over »
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20
" Do oot wets
s 0
e A solld statue has volume 612 om’ oo
The stalue has mass 3.6 kilograms,
’ density of Iron = 7,87 grams per cubic centimetre ,
2 (] . &
I8 the statue made of Iron? 2 b j 5 600 %
You must show your working.
M B 7) ()()() C B » [3 marks)
Qs 2 — s 1-:0)
% AT e
-] Crn

T h 3ok 1) not mcols of in_ a,;_:l_u_¢_7ﬂ'

1B/M/Nov22/8300/3F
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e o S50 Rk S Y | Do not write
outside the
25 (a) Here is the rule for a sequence. o
After the first two terms, each term is the sum of the previous two terms
The 1st term is 33
The 2nd term is x
The 4th term is 73
Work out the value of x.
2 Y ERET T X [3 marks)
e SRR bl
Lot i W
RIS 1
AL S (0} o
x= Lo
25 (b) An expression for the nth term of a different sequenceis n-— n?
Ruth says,
“All the terms will be negative because n?is always greater than n.”
Is she correct?
Tick a box.
Yes \/ No
Give a reason for your answer.
[1 mark]
’ 1
be Ccuse =0
T
Turn over »
i e
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| e e L ! =2 TS g Do not write
[ outside the
|26 P and Q are points. o
The x-coordinate of Q is 4 more than the x-coordinate of P.

The y-coordinate of Q is 5 less than the y-coordinate of P.
Waork out the gradient of the straight line through P and Q.

[2 marks]
ey |

-

(
e L ek
Answer =l ( G = e

£\

27 m=pr
p is halved and r is multiplied by 3

What happens to m ?

Circle your answer.
[1 mark]

x 6 X

[N [BEN
%
w|N

1B/M/Nov22/8300/3F
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|

== e te enuils ater 25 ss Oz o

s T2
TEs 22

Tre con € Sour 3 == 3L nes.
2= Al 30 s, Te =aive Tenenny T rears s 0482

For e etz 5 spilms. wo® out mumber of Hescs - Tumber o 13is

Heads jeoxo.vS = &N

Zmars]

i1 -11s - 19

T o4 Jocx (1-0¢x) - IS}

)
VA
™)
A=

[1 mark]

Tum over »
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24

Part of a running track is the arc of a semicircle joined to a straight line.
The semicircle has diameter 45 metres.
The straight line has length 75 metres.

Not drawn
accurately

45 m

75m —>

N

Abby runs once along this part of the track in 18 seconds.

Work out her average speed. 1

Give your answer to 2 significant figures.
[4 marks]

d—1‘< G ,).1-5
o

!
cicCcumgriency  of @akir Circtl . 0.1 xGy=1d.5

G-~ 1

AUt an

- ToEx

Ty B Ay ol il

?Ocl|€ i)

2 B

it ¢ A
-
{

%. | mis

| Do not write

outside the
box

e

1B/M/Nov22/8300/3F
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Here is some information about the members of clubs A and B.

25

Number of Mean height of

members members
Club A 24 1.8m
Club B 20 1.92m

Work out

total height of the members of club A

total height of the members of club B

| Do not write
outside the
box

2¢ x1-% =43 L

16%\-q1 3¢

Give your answer as a decimal.

[2 marks] t
432 e
2%.4 s :
|
Answer =l l
|
p
END OF QUESTIONS
5
e o
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